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Process Standards Rubric
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NAME: p Tock Shedl

Task Sheet 10

What’s the Meaning of this?

100) If Joanne can buy C chocolate bars at .80¢ each and B
butter tarts at .50¢ each, what is the meaning of:
(Show your work.)

D C+B i) 25C

iii) 208 iv) @5C + 2

b) If Joanne buys D do
what is the meaning

potato chips at .75¢ per bag,

) 2D + 4P iy 17pP

iy D/2 iv) 12D + 10P

If x =1.20 and y = 1.40, predict which of the following equations h
would equal the highest and lowest values.
) 5x + 5y i) 10x i) 10y iV) Xy

2 v Now, solve each equation to see if you were right. )
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NAME: Deill Sheal

Drill Sheet 2

a) Simplify fully: “4x(3 - 2x) + x2

Answer:

b) Solve these equations:

N 5-Ca)=10

i) 12+g=24

it+6.5=45-25

iV)SX + 3 + 2 16

¢) The following patt
and add 1.

creases by this rule: multiply the previous term by 4

19,777,309, 1237, ___
What is the next term in the sequence?

Answer:

Answer:

S
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Term Value and Graphing

a) A pattern that increases when the same amount is added to each term is
represented in the table below. Complete the pattern.

Term Number Term Value
1

2
3
4
S

b) A pattern that decreases when the same amoug is sub ed tQ each term is
represented in the table below. Complet rn.
Term Number m Va

™

c) Graph the following on the accompanying number line.

<9 8 -7 6 5 4 3 2 -1 0 1 2 3 4 5 6 7 8 9
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